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A B 60,3921  98.1 1,077,690|  97.7 37,571,229,5301  97.5
%r A4t 1,645,380]  97.5 2,630,627  97.0 26,668,839,110]  96.6
H) 1,705,772  97.5 3,708,317|  97.2 64,240,068,6401  97.1
| A B 192]  100.0 1,553] 101.9 94,295,211]  95.9
— ;j'r ABest 364,568]  99.6 619,395/  97.0 4,636,722,580]  97.5
& &t 364,760  99.6 620,948]  97.0 4,731,017,791]  97.5
g ERER 2,070,532]  97.9 4,329,265/  97.2 68,971,086,431)  97.1
L pal 1,236,670)  98.3 1,499,7281 985 13,295,077,360,  100.4
I E RS 15,708]  109.6 108,726] 116.4 1,174,848,470| 116.7
R &t 3,322,910]  98.1 4,437,991}  97.6 83,441,012,261}  97.9
Ee i3 67,875 95.1 289,317]  92.1 405,355,668  86.1
o — H #% ERE
R %) SR %) KRR (%)
A B - - -
%r ABestk 6] - 5/ - 59,030! -
B 6] - 5| - 59,030] -
" A B - - -
B gy | AbEt 1 - - 7,040, -
53 3t 1 - 1 - 7,040, -
| ERER e 6 - 66,070, -
il bl 2l - 2l - 14,100] -
PR - - -
S 7t 9 - 6] - 80,170, -
x* it - - -
o —— H # ERE —
*F R %) SR %) KRR (%)
A BE 60,392]  98.1 1,077,690]  97.7 37,571,229,530]  97.5
%r NI 1,645,386]  97.5 2,630,632 97.0 26,668,898,140  96.6
&t 1,705,778]  97.5 3,708,322]  97.2 64,240,127,670]  97.1
—1 . A B 1921 100.0 1,553]  101.9 94,295,211]  95.9
% %’r N4 364,569  99.6 619,396)  97.0 4,636,729,620|  97.5
+ 7t 364,761  99.6 620,949]  97.0 4,731,024,831]  97.5
B ERdRE 2,070,539]  97.9 4,329,271}  97.2 68,971,152,501}  97.1
Tk i pail 1,236,672]  98.3 1,499,730, 985 13,295,091,460] 100.4
PR 15,708]  109.6 108,726] 116.4 1,174,848,470) 116.7
& #t 3,322,919 98.1 4,437,997 97.6 83,441,092,431 97.9
E i 67,875  95.1 289,317]  92.1 405,355,668  86.1
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& AW H % AW ERE) AW
A PBE 5,331 1.9 94,782]  24.1 3,446,126,051  45.8
% NI 142,176 49.5 233,408 59.3 2,375,845,210 31.6
&t 147,507 51.3 328,190]  83.4 5,821,971,261]  77.4
| A B 22 0.0 145, 0.0 9,357,462 0.1
— %é'j A4t 31,499 11.0 55,844  14.2 421,589,820 5.6
% 7t 31,521 11.0 55,989  14.2 430,947,282 5.7
| ERERE 179,028 62.3 384,179] 97.6| 6,252,918,543]  83.1
il Zal 106,926 37.2 132,104] — 1,169,265,930]  15.5
PR 1,307 0.5 9,458 2.4 99,714,380 1.3
& #t 287,261 100.0 393,637) 100.0 7,521,898,853]  100.0
x* it 5,559 — 24,8000 — 37,000,938 —
2 e A ¥ e BRRW) g
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H)
A B
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A B 5,331 1.9 94,782  24.1 3,446,126,051]  45.8
%r A4t 142,176 49.5 233,408]  59.3 2,375,845,210]  31.6
H) 147,507 51.3 328,190]  83.4 5,821,971,261 77.4
_ A Bi 22 0.0 145 0.0 9,357,462 0.1
% ﬁ ABest 31,499 11.0 55,844 14.2 421,589,820 5.6
+ 7t 31,521 11.0 55,989  14.2 430,947,282 5.7
5% = g B 179,028 62.3 384,179]  97.6 6,252,918,543,  83.1
T L pal 106,926 37.2 132,104 — 1,169,265,930|  15.5
I EEREE 1,307 0.5 9,458 2.4 99,714,380 1.3
& # 287,261 100.0 393,637| 100.0 7,521,898,853]  100.0
Ee i3 5,559 - 24,800, — 37,000,938 —
X ERROBUEIT, A THI - T B E ORIA TEHL,
X EREORICERFRERET AT,

EFHREREZREREHESS
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¥ % N5 (%) H % =& %) ERR(ED) =& %
A PBE 5,129 1.9 92,5191  25.0 3,346,116,201  47.5
% NI 135,913 49.4 216,430 58.5 2,132,844,670 30.3
&t 141,042 51.2 308,949]  83.6 5,478,960,871]  77.8
| A B 15 0.0 137, 0.0 7,029,750| 0.1
— %é'j A4t 30,723 11.2 52,714|  14.3 397,620,240 5.6
% 7t 30,738 11.2 52,851  14.3 404,649,990 5.7
| ERERE 171,780 62.4 361,800  97.9 5,883,610,861]  83.5
il #l 102,352 37.2 123,136] — 1,076,114,710,  15.3
PR 1,207 0.4 7,850 2.1 84,704,980 1.2
& #t 275,339 100.0 369,650] 100.0 7,044,430,551] 100.0
x* it 5,746 — 25,104] — 37,722,210) —
% 215 H % FE%) ER (1) FE5(%)
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i E SRR
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% 25 H % FE%) R FE5(%)
A B 5,129 1.9 92,519]  25.0 3,346,116,201]  47.5
%r A4t 135,913 49.4 216,430|  58.5 2,132,844,670]  30.3
H) 141,042 51.2 308,949]  83.6 5,478,960,871 77.8
_ A Bi 15 0.0 137 0.0 7,029,750 0.1
% ﬁ ABest 30,723 11.2 52,714 14.3 397,620,240 5.6
+ 7t 30,738 11.2 52,8511  14.3 404,649,990 5.7
5% = g B 171,780 62.4 361,800]  97.9 5,883,610,861  83.5
T L pal 102,352 37.2 123,136] — 1,076,114,710|  15.3
I EEREE 1,207 0.4 7,850 2.1 84,704,980 1.2
& # 275,339 100.0 369,650]  100.0 7,044,430,551]  100.0
Ee i3 5,746 - 25,104 — 37,722,210, —
X ERROBUEIT, A THI - T B E ORIA TEHL,
X ERBEOFICEFHEEEL T,

EFHEHREREZREREHESS
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¥ % N5 (%) H % =& %) (M) =& %
A PBE 5,073 1.8 92,061  24.4 3,294,568,263]  46.2
% NI 138,179 49.5 222,412 59.0 2,229,104,780 31.3
&t 143,252 51.3 314,473]  83.4 5,523,673,043]  77.5
| A B 16 0.0 123 0.0 7,704,505 0.1
— %é'j A4t 30,687 11.0 52,790|  14.0 387,378,240 5.4
% 7t 30,703 11.0 52,913}  14.0 395,082,745 5.5
| ERERE 173,955 62.3 367,3867  97.4 5,918,755,788]  83.1
il Zal 103,815 37.2 126,437] — 1,101,604,980]  15.5
PR 1,322 0.5 9,706 2.6 103,940,290 1.5
& #t 279,092 100.0 377,092]  100.0 7,124,301,058]  100.0
x* it 6,102 — 26,314 — 39,785,203 —
% 215 H % FE%) ER (1) FE5(%)
A B
= -
% APk 1 100.0 1} 100.0 11,880/  100.0
H) 1 100.0 i 100.0 11,880] 100.0
A B
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A B 5,073 1.8 92,061  24.4 3,294,568,263]  46.2
%r A4t 138,180 49.5 222,413]  59.0 2,229,116,660]  31.3
H) 143,253 51.3 314,474] 83.4 5,523,684,9231  77.5
_ A Bi 16 0.0 123 0.0 7,704,505 0.1
% ﬁ ABest 30,687 11.0 52,790 14.0 387,378,240 5.4
+ 7t 30,703 11.0 52,9131  14.0 395,082,745 5.5
5% = g B 173,956 62.3 367,387 97.4 5,918,767,668]  83.1
T L pal 103,815 37.2 126,437 — 1,101,604,980|  15.5
I EEREE 1,322 0.5 9,706 2.6 103,940,290 1.5
& # 279,093 100.0 377,093]  100.0 7,124,312,938]  100.0
Ee i 6,102 - 26,314, — 39,785,203 —
X ERROBUEIT, A THI - T B E ORIA TEHL,
X EREORICERFRERET AT,

EFHEHREREZREREHESS
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¥ % N5 (%) H % =& %) ERR(ED) =& %
A PBE 5,134 1.8 90,009]  23.7 3,170,715,180]  45.1
% NI 138,968 49.5 225,866 59.4 2,255,017,000 32.1
&t 144,102 51.3 315,875  83.1 5,425,732,180]  77.2
| A B 16 0.0 108) 0.0 6,477,855 0.1
— %é'j A4t 31,614 11.3 54,824  14.4 409,484,170 5.8
% 7t 31,630 11.3 54,932  14.4 415,962,025 5.9
| ERERE 175,732 62.6 370,807  97.5 5,841,694,205  83.2
il Zal 103,771 37.0 126,126] — 1,081,884,610]  15.4
PR 1,316 0.5 9,418 2.5 101,275,770 1.4
& #t 280,819 100.0 380,225]  100.0 7,024,854,585]  100.0
x* it 5,862 — 25,464 — 38,081,576] —
% 215 H % FE%) ER (1) FE5(%)
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£ NG4S
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e[ 5| s
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A B 5,134 1.8 90,009]  23.7 3,170,715,180]  45.1
%r A4t 138,968 49.5 225,866]  59.4 2,255,017,000]  32.1
H) 144,102 51.3 315,875]  83.1 5,425,732,180]  77.2
_ A Bi 16 0.0 108 0.0 6,477,855 0.1
% ﬁ ABest 31,614 11.3 54,824 14.4 409,484,170 5.8
+ 7t 31,630 11.3 54,9320  14.4 415,962,025 5.9
5% = g B 175,732 62.6 370,807]  97.5 5,841,694,205]  83.2
T L pal 103,771 37.0 126,126] — 1,081,884,610|  15.4
I EEREE 1,316 0.5 9,418 2.5 101,275,770 1.4
& # 280,819 100.0 380,225|  100.0 7,024,854,585]  100.0
Ee i 5,862 - 25,464 — 38,081,576 —
X ERROBUEIT, A THI - T B E ORIA TEHL,
X ERBEOFICEFHEEEL T,

EFHEHREREZREREHESS
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¥ % N5 (%) H % =& %) ERR(ED) =& %
A PBE 5,081 1.8 91,136  24.5 3,150,545,057,  45.3
% NI 138,259 49.7 220,891 59.4 2,216,431,890 31.9
&t 143,340 51.5 312,027]  84.0 5,366,976,947]  77.2
| A B 16 0.0 92| 0.0 5,777,536| 0.1
— %é'j A4t 30,168 10.8 50,709|  13.6 378,364,110 5.4
% 7t 30,184 10.8 50,801  13.7 384,141,646 5.5
| ERERE 173,524 62.3 362,828]  97.6 5,751,118,593]  82.7
i Zal 103,610 37.2 125,728] — 1,109,378,760,  15.9
PR 1,287 0.5 8,839 2.4 95,516,110 1.4
& #t 278,421 100.0 371,667) 100.0 6,956,013,463] 100.0
x* it 5,910 — 25,574 — 37,988,290, —
% 215 H % FE%) ER (1) FE5(%)
- A B
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H)
A B
e[ 5| s
57 it
S| ERERG
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i E SRR
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Ee #*
% 25 H % FE%) R FE5(%)
A B 5,081 1.8 91,136]  24.5 3,150,545,057]  45.3
%r A4t 138,259 49.7 220,891]  59.4 2,216,431,890]  31.9
H) 143,340 51.5 312,027]  84.0 5,366,976,9471  77.2
_ A Bi 16 0.0 92 0.0 5,777,536 0.1
% ﬁ ABest 30,168 10.8 50,709 13.6 378,364,110 5.4
+ 7t 30,184 10.8 50,801}  13.7 384,141,646 5.5
5% = g B 173,524 62.3 362,828]  97.6 5,751,118,593]  82.7
T L pal 103,610 37.2 125,728] — 1,109,378,760|  15.9
I EEREE 1,287 0.5 8,839 2.4 95,516,110 1.4
& # 278,421 100.0 371,667] 100.0 6,956,013,463]  100.0
Ee i3 5,910 - 25,574  — 37,988,290 —
X ERROBUEIT, A THI - T B E ORIA TEHL,
X EREORICERFRERET AT,

EFHEHREREZREREHESS
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A PBE 4,990 1.8 88,585  24.2 3,083,481,913]  44.2
% NI 137,205 49.7 220,264 60.1 2,261,455,230 32.4
&t 142,195 51.5 308,849  84.2 5,344,937,143]  76.7
| A B 20 0.0 110, 0.0 8,719,075, 0.1
— %é'j A4t 29,627 10.7 49,184|  13.4 364,612,780 5.2
% 7t 29,647 10.7 49,294,  13.4 373,331,855 5.4
| ERERE 171,842 62.3 358,143, 97.7| 5,718,268,998.  82.0
i Zal 102,953 37.3 125,973] — 1,158,603,900  16.6
PR 1,250 0.5 8,608 2.3 92,617,070 1.3
& #t 276,045 100.0 366,7511  100.0 6,969,489,968] 100.0
x* it 5,692 — 24,038 — 35,872,588) —
% 215 H % FE%) ER (1) F1E %)
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H)
A B
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A B 4,990 1.8 88,585  24.2 3,083,481,913]  44.2
%r A4t 137,205 49.7 220,264]  60.1 2,261,455,230]  32.4
H) 142,195 51.5 308,849]  84.2 5,344,937,143]  76.7
_ A Bi 20 0.0 110 0.0 8,719,075 0.1
% ﬁ ABest 29,627 10.7 49,184 13.4 364,612,780 5.2
+ 7t 29,647 10.7 49,294,  13.4 373,331,855 5.4
5% = g B 171,842 62.3 358,143]  97.7 5,718,268,998  82.0
T L pal 102,953 37.3 125,973 — 1,158,603,900|  16.6
I EEREE 1,250 0.5 8,608 2.3 92,617,070 1.3
& # 276,045 100.0 366,751]  100.0 6,969,489,968]  100.0
Ee i 5,692 - 24,038 — 35,872,588] —
X ERROBUEIT, A THI - T B E ORIA TEHL,
X EREORICERFRERET AT,

EFHREREZREREHESS
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A PBE 5,022 1.8 88,686]  24.0 3,065,151,284]  44.6
% NI 136,708 49.7 219,571 59.5 2,254,165,960 32.8
&t 141,730 51.5 308,257]  83.6 5,319,317,244]  77.3
| A B 18 0.0 149 0.0 8,296,895/ 0.1
— %é'j A4t 30,225 11.0 51,143|  13.9 381,303,340 5.5
% 7t 30,243 11.0 51,2921  13.9 389,600,235 5.7
| ERERE 171,973 62.5 359,549  97.5 5,708,917,4791  83.0
il #l 101,938 37.0 123,453] — 1,067,712,940]  15.5
PR 1,325 0.5 9,385 2.5 101,338,950 1.5
& #t 275,236 100.0 368,934]  100.0 6,877,969,369] 100.0
x* it 5,698 — 24,226 — 36,665,470 —
% 215 H % FE%) ER (1) F1E %)
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£ NG4S
H)
A B
e[ 5| s
57 it
S| ERERG
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% 25 H % FE%) R F1E %)
A B 5,022 1.8 88,686]  24.0 3,065,151,284]  44.6
%r A4t 136,708 49.7 219,571  59.5 2,254,165,960]  32.8
H) 141,730 51.5 308,257]  83.6 5,319,317,244]  77.3
_ A Bi 18 0.0 149 0.0 8,296,895 0.1
% ﬁ ABest 30,225 11.0 51,143 13.9 381,303,340 5.5
+ 7t 30,243 11.0 51,2921  13.9 389,600,235 5.7
5% = g B 171,973 62.5 359,549]  97.5 5,708,917,479]  83.0
T L pal 101,938 37.0 123,453 — 1,067,712,940|  15.5
I EEREE 1,325 0.5 9,385 2.5 101,338,950 1.5
& # 275,236 100.0 368,934| 100.0 6,877,969,369] 100.0
Ee i3 5,698 - 24,226 — 36,665,470, —
X ERROBUEIT, A THI - T B E ORIA TEHL,
% EERBEOTICEFEEEEE T,

EFHREREZREREHESS
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A PBE 5,146 1.8 92,506]  24.3 3,193,046,244]  45.3
% NI 138,473 49.5 224,342 58.9 2,222,425,210 31.5
&t 143,619 51.4 316,848]  83.2 5,415,471,454]  76.8
| A B 12 0.0 117, 0.0 6,364,731 0.1
— %é'j A4t 31,112 11.1 53,837|  14.1 405,668,140 5.8
% 7t 31,124 11.1 53,954]  14.2 412,032,871 5.8
| ERERE 174,743 62.5 370,802!  97.4 5,827,504,325'  82.6
il #l 103,409 37.0 126,297, — 1,114,400,620]  15.8
PR 1,387 0.5 10,034 2.6 108,974,810 1.5
& #t 279,539 100.0 380,836 100.0 7,050,879,755]  100.0
x* it 5,843 — 25,036 — 37,710,726] —
% 215 H % FE%) ER (1) F1E %)
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A B 5,146 1.8 92,506]  24.3 3,193,046,244]  45.3
%r A4t 138,473 49.5 224,342]  58.9 2,222,425,210]  31.5
H) 143,619 51.4 316,848]  83.2 5,415,471,454]  76.8
_ A Bi 12 0.0 117 0.0 6,364,731 0.1
% ﬁ ABest 31,112 11.1 53,837 14.1 405,668,140 5.8
+ 7t 31,124 11.1 53,954]  14.2 412,032,871 5.8
5% = g B 174,743 62.5 370,802  97.4 5,827,504,325|  82.6
T L pal 103,409 37.0 126,297 — 1,114,400,620|  15.8
I EEREE 1,387 0.5 10,034 2.6 108,974,810 1.5
& # 279,539 100.0 380,836/ 100.0 7,050,879,755]  100.0
Ee i3 5,843 - 25,036 — 37,710,726 —
X ERROBUEIT, A THI - T B E ORIA TEHL,
% EERBEOTICEFEEEEE T,

EFHREREZREREHESS
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& AW H % AW ERE) AW
A PBE 4,973 1.8 87,501  24.1 3,000,986,031F  44.2
% NI 135,930 49.5 216,081 59.4 2,216,284,630 32.6
&t 140,903 51.4 303,582  83.5 5,217,270,661]  76.8
| A B 14 0.0 149 0.0 8,336,865 0.1
— %é'j A4t 29,972 10.9 50,765|  14.0 381,256,540 5.6
% 7t 29,986 10.9 50,914]  14.0 389,593,405 5.7
| ERERE 170,889 62.3 354,496!  97.5 5,606,864,066.  82.6
il #l 102,144 37.2 123,673] — 1,085,696,770]  16.0
PR 1,329 0.5 9,009 2.5 97,882,930 1.4
i #t 274,362 100.0 363,505] 100.0 6,790,443,766] 100.0
x* it 5,517 — 22,946) — 34,487,875 —
% 215 H % FE%) ER (1) F1E %)
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A B 4,973 1.8 87,501  24.1 3,000,986,031]  44.2
%r A4t 135,930 49.5 216,081  59.4 2,216,284,630]  32.6
H) 140,903 51.4 303,582]  83.5 5,217,270,661 76.8
_ A B 14 0.0 149 0.0 8,336,865 0.1
% ﬁ NG 29,972 10.9 50,765  14.0 381,256,540 5.6
+ 7t 29,986 10.9 50,914]  14.0 389,593,405 5.7
5% = g B 170,889 62.3 354,496]  97.5 5,606,864,066]  82.6
T L pal 102,144 37.2 123,673 — 1,085,696,770,  16.0
I EEREE 1,329 0.5 9,009 2.5 97,882,930 1.4
& # 274,362 100.0 363,505]  100.0 6,790,443,766]  100.0
Ee i3 5,517 - 22,946) — 34,487,875 —
X ERROBUEIT, A THI - T B E ORIA TEHL,
% EERBEOTICEFEEEEE T,

EFHREREZREREHESS
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A PBE 4,843 1.7 88,0511  24.0 2,905,760,916]  42.9
% NI 138,022 49.4 218,370 59.6 2,207,542,230 32.6
&t 142,865 51.2 306,421  83.6 5,113,303,146]  75.5
| A B 8 0.0 108) 0.0 4,562,727, 0.1
— %é'j A4t 30,645 11.0 51,064|  13.9 390,475,570 5.8
% 7t 30,653 11.0 51,172]  14.0 395,038,297 5.8
| ERERE 173,518 62.1 357,593!  97.6 5,508,341,443!  81.4
il #l 104,438 37.4 126,953] — 1,162,408,720]  17.2
PR 1,329 0.5 8,930 2.4 97,728,560 1.4
& #t 279,285 100.0 366,523]  100.0 6,768,478,723] 100.0
x* it 5,455 — 22,718) — 34,043,999 —
% 215 H % FE%) ER (1) F1E %)
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Ee #*
2 e A ¥ e BREW) g
A B 4,843 1.7 88,051]  24.0 2,905,760,916]  42.9
%r A4t 138,022 49.4 218,370  59.6 2,207,542,230]  32.6
H) 142,865 51.2 306,421]  83.6 5,113,303,146]  75.5
_ A Bi 8 0.0 108 0.0 4,562,727 0.1
% ﬁ NG 30,645 11.0 51,064]  13.9 390,475,570 5.8
+ 7t 30,653 11.0 51,1721 14.0 395,038,297 5.8
5% = g B 173,518 62.1 357,593]  97.6 5,508,341,443]  81.4
T L pal 104,438 37.4 126,953] — 1,162,408,720|  17.2
I EEREE 1,329 0.5 8,930 2.4 97,728,560 1.4
& # 279,285 100.0 366,523]  100.0 6,768,478,723]  100.0
Ee #* 5,455 - 22,718] — 34,043,999 —
X ERROBUEIT, A THI - T B E ORIA TEHL,
% EERBEOTICEFEEEEE T,

EFHREREZREREHESS



SHEF1AZEy EREREARERRTFONRR(EHR)

& AW H % AW ERE) AW
A PBE 4,776 1.8 87,3441  25.0 2,947,284,171  44.2
% NI 132,869 49.4 205,991 58.9 2,175,797,920 32.6
&t 137,645 51.2 293,335]  83.8 5,123,082,091]  76.8
| A B 17 0.0 147, 0.0 11,467,000f 0.2
— %é'j A4t 29,015 10.8 47,710, 13.6 350,450,290 5.3
% 7t 29,032 10.8 47,857 13.7 361,917,290 5.4
| ERERE 166,677 62.0 341,192,  97.5| 5,484,999,381  82.3
il Zal 101,004 37.5 120,121] — 1,087,299,940|  16.3
PR 1,328 0.5 8,819 2.5 95,969,810 1.4
& #t 269,009 100.0 350,0117  100.0 6,668,269,131] 100.0
x* it 5,295 — 21,484 — 32,737,997, —
% 215 H % FE%) ER (1) F1E %)
A B
%r APk 5 62.5 41 80.0 47,150]  69.0
H) 5 62.5 4] 80.0 47,150  69.0
A B
1E ﬁ INZZS 1 12.5 1] 20.0 7,040)  10.3
Tk At 1 12.5 11 200 7,040, 10.3
| ERERE 6 75.0 5 100.0 54,190, 79.4
L pal 2 25.0 21 — 14,100]  20.6
i E SRR
T 7t 8 100.0 5 100.0 68,290,  100.0
Ee #* - - -
# % e H % e FFRW) pw
A B 4,776 1.8 87,344|  25.0 2,947,284,1711  44.2
%r A4t 132,874 49.4 205,995  58.9 2,175,845,070]  32.6
H) 137,650 51.2 293,339  83.8 5,123,129,241 76.8
— A PBE 17 0.0 147 0.0 11,467,000 0.2
% ﬁ ABest 29,016 10.8 47,711 13.6 350,457,330 5.3
+ 7t 29,033 10.8 47,858]  13.7 361,924,330 5.4
5% = g B 166,683 62.0 341,197] 97.5 5,485,053,571]  82.3
T L pal 101,006 37.5 120,123] — 1,087,314,040|  16.3
I EEREE 1,328 0.5 8,819 2.5 95,969,810 1.4
& # 269,017 100.0 350,016/ 100.0 6,668,337,421] 100.0
Ee i3 5,295 - 21,484 — 32,737,997, —
X ERROBUEIT, A THI - T B E ORIA TEHL,
X ERBEOFICEFHEEEL T,

EFHREREZREREHESS



SHEF2AZHEy ARBREARERBTFONRR(EHR)

& AW H % AW ERE) AW
A PBE 4,894 1.8 84,510  24.2 2,967,448,219]  44.7
% NI 132,678 49.4 207,001 59.3 2,121,924,380 31.9
&t 137,572 51.2 291,511]  83.5 5,089,372,599]  76.6
| A B 18 0.0 168) 0.0 10,200,810f 0.2
— %é'j A4t 29,281 10.9 48,811 14.0 368,519,340 5.5
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